(» Bug: The first line is valid only if 0 (efe)==e®®o). «)
(» Bug: & must be a symbol. x)
Expy ; ,e[<_ , P_] :=Module[{LQ = Normaler /. e - @},

E[SLQ/. (x|y)i»0, SLQ/. (t]a);>0,1]];

Expy , ,r [£ , P_1 :=Block[{$U = U, $k = R},

—1 2
Module[{PO, ¢, ¢s, F, j, rhs, ate, atg},
PO = NormaleP /. € » 0;
¢s = Flatten@Table[vj1,42,i3[<1, {12, O, R},
{j1, 0, 2k+1-72}, {3, 0, 2k+1-92-71}7;
F = NormaleLast@Expy. ..1[<5 P] +
€ ps. (05 /. 035 [£] > Times @@ {y:, ai, x:}17}H);
rhs =
Normale
Laste
mi,isi [E[EPO /. (X|y)i=»©, £PO/. (t|a); >0, F+0]
mi,i@E[O, O, P+0,]];
atd = (#=0) & /@
FlatteneCoefficientList[F-1 /. £ -0, {yi, ai, Xi}];
até = (#=20) & /@
Flatten@CoefficientList[ (6-F) + POF - rhs,
{yi, @i, Xi}1;
E[SPO/. (X]|Y);i >0, £PO/. (t|a); >0, F+0,] /.
DSolve[And @e (ato | ats), os, £101] |]



